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DJo00o00o00ododo*x0o0odod #include void
main() { int n,i,unl,un2,un. for(n=2.n { printf("Please enter required
number of generation:"). scanf("%d",&amp.n). if(n } un=un2=1.
printf("The repid increase of rabbits in first %d generation is as
felow:\n",n). printf("I\t\t"). for(i=3.i { un1l=un2. un2=un. un=unl
un2. /000 00000NOOO* printf(i7'%d\t":"%d\n",un).
} printf("\n"). } *00 OO O O Please enter required number of
generation: 20 The repid increase of rabbits in first 20 generation is as
felow: 11235813 21345589144 233 377 610 987 1597 2584 4181
6765100Test 1 U O DO OO ODOODOODOOODOOOOONO
O O www.100test.com



